an B S50 REB(—MHdIZD) FheR(—hadpI=D)
mL ik 27007
4,620 M 12,320 1
(Btik 4,200 M) (Bttk 11,200 )
5,170 & 12,870 1
(Bttk 4,700 M) (Bttk 11,700 )
6,820 1 14,520 1
(Fitk 6,200 M) (Fitk 13,200 M)
8,470 1 16,170 M
(Bttk 7,700 M) (Bttk 14,700 )
10,120 17,820 1
(#k 9,200 M) (#ik 16,200 M)
12,870 F 20,570
(Bitk 11,700 ) (Bitk 18,700 M)
18,370 1 26,070 =
(#itk 16,700 M) (#tk 23,700 M)
EEE 5 i 10,120 17,820 1
(Fitk 9,200 M) (Fitk 16,200 M)
i — 5 () 12,870 1 20,570 H
(Fitk 11,700 M) (#itk 18,700 M)
B o 15,620 23,320 M
(Bitk 14,200 ) (Fitk 21,200 M)




